PA

65

Shfe~ti& (mm)
05 05
05 & 1
| 03 o
5 M5x0.8
M5x08 - M10x 1.6 @
G 14H
I w o
K H Qo N
! uw o] O o g %
e 14H 14H
10_H M6X 1.0 y
. . ©
> . o o o T |
3 - (@]
oA | L oA ] 030
PATK-10A”15A/20A PATK-25,730,740,/50 PATK-30B
10B,/15B,/20B
oP P N
N J 912 mep=s
J 1//* iyl 23
‘ oM w|m| e !
2l - 1 oy° l#'" 14H e 14H o
_____ = / o —_—l 1 — 9| o
! o0}
oxos | o M5 §0~8 ® M5X08 . Si
: y o - M6X 1.0
— 13 ©
> O : o \ [
Y ! (Y).T j
> o
oA oA 430
PAYK-10A,/15A/20A PAYK-25,730,/40,/50 PAYK-30B
10B./15B,/20B
PATK A B © D F G J K Y z HE (g)
PATK-10A 0 41 75 | 225 | 155 | M9x1.0 11 12H | 0.6 15
PATK-10B 0 41 75 | 225 | 155 | M9x1.0 11 12H | 03 15
PATK-15A 5 41 75 | 225 | 165 | M9x1.0 11 12H | 0.9 15
PATK-15B 5 41 75 | 225 | 165 | M9x1.0 11 12H | 05 15
PATK-20A 20 | 435 | 10 | 225 | 155 | M9x1.0 11 12H | 1.2 16
PATK-20B 20 | 425 9 225 | 155 | M9x1.0 11 12H | 0.8 16
PATK-25 25 62.2 18 3.2 20 M10x1.5 11 14H 1.5 M6x1.0 54
PATK-30 30 | 622 | 18 | 332 | 20 | Mioxi5 | 11 14H | 1.8 | M6x1.0 55
PATK-40 40 | 622 | 18 | 332 | 20 | Miox15 | 11 14H | 2.4 | M6x1.0 55
PATK-50 50 | 622 | 18 | 332 | 20 | Miox15 | 11 14H 3 M6x1.0 56
PAYK A B c D J L N P Y z HE (g)
PAYK-10A 10 30 7.5 22.5 16 13 M4ZR 26 10 0.6 16
PAYK-10B 10 30 75 | 225 | 16 13| M4EZ6 10 0.3 16
PAYK-15A 15 30 75 | 225 | 16 13| M4EZ6 10 0.9 16
PAYK-15B 15 30 75 | 225 | 16 13| M4EZ6 10 0.5 16
PAYK-20A 20 | 325 | 10 | 225 | 16 13| M4E3Z6 10 12 17
PAYK-20B 20 | 315 9 225 | 16 13| M4EZ6 10 08 17
PAYK-25 25 | 512 | 18 | 332 | 18 20 | M6EZ8 12 15 | M6x1.0 54
PAYK-30 30 | 512 | 18 | 332 | 18 20 | M6%2&8 12 1.8 | M6x1.0 55
PAYK-40 40 | 512 | 18 | 332 | 18 20 | M6RZ8 12 24 | M6x1.0 55
PAYK-50 50 | 6512 | 18 | 332 | 18 20 | M6EZ8 12 3 M6x1.0 56

57



